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560 565

32.

32.

31.

31.

30.

35.

34.

34.

45.

45.

44,

44.

43.

43.

42.

m=495, FV0=0

—o—

M_E

560 565
m=925,n FV0=0

T
925

950 955
m=795,n FV0=0

—o—

M_W

795

800 805

m=5395, FV0=0

34. 25

34. 00

33. 75 A

33. 50 A

33. 25

33. 00 A

M_E

555 560 565

40 -
T T T T T
500 600 700 800 900
m=850,m FV0=0
46 —o— M_W
45 -
44 -
43 -
850 855 860

m=793, FV0=0

—e— ME
34.5 -
34.0 -
33.5 1
T T T
795 800 805
m=495,m FV0=0
—— MW
41.0 -
40. 5 -
40. 0 -
39.5 -
T T T
495 500 505
m=925,m FV0=0
411 —e— MW
46 -
45 -
44 -
925 930 935
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P3-13

BYiE) | GEBIRTIK (D) | EBE (EA/#K) | XS SRR

07:10 294 150.0 A5 {Ri%e07:10 Bzl (REERER)
07:55 294 150.0 R5| {Ri&e07:55 Bzl (REERSE)
08:40 294 150.0 BS| 1Ri%e08:40 Bz (RF{EEEE)
09:40 294 150.0 Rg| 1Ri%e09:40 B (REEREE)
10:25 294 150.0 el Rige10:25 Ba) (REAEHSE)
11:10 294 150.0 Bl BRigeli1:10 Bz GGREAERSE)
12:00 294 150.0 | Ri%e12:00 Bz (RF{EREE)
12:50 294 150.0 el Rige12:50 Bal (REAEHSE)
13:35 294 150.0 RS {Rige13:35 BHa (REAEHE)
14:25 294 150.0 S| Ri%e14:25 Bz (REERESR)
15:20 294 150.0 | =| 1Ri&e15:20 Bz (RPBEEE)
23t 3234.0 (11)%) 1650. 0 32 HEKEC: 2080.0, PH: 5.6

FEREAERE STEAETRSE (191.0 : 135.0), AHEHRTF—@AZ XFH4
LORFEBIRTC (294) 57140 (326. 0) FF, FIEEH T X BRERS EXIER
ZRIASEPRIERE135.0 ml.

REREBIEC (2635.0) Hi&EEC (2000.0) REIK, BHE
H[E;KECE (2635.0 vs 4285.0) 05



P3-13_0, Day=43 (2025-05-13)

150 A

100 A

50

(¢
200 -

150 A

100 A

FRV (ml plant-1)

a1
o
1

189

142 Warning: lcol ['FVI',| "FVO'] missing 104

. v — M_E

=

V1, V¥RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1910 | 2000

1400 359" 1500
- 1000

- 500

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

300

200

ET (ml/hr/plant)

408- 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

100 -

Bylnit @45 14:07: ET=1363 Fg=1650.0 Ro=227.0

- 2000

- 1000

ET (ml/hr/plant)

408- 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

300

200

100 -

sz BBl W[ BB BB BB B BB 8| s[ @& [&]wm[@

ByEt @43 19:09: ET=1491 FEg=1350.0 Ro=nan !

- 2000

- 1000

ET (ml/hr/plant)

1'0_@' oo

300

200

100 -

z| B | BB | BB |22 |57 | 05 | BE | BF | BF | BF [ | B | B [ZE(X=(%=| B (@] A [f| BB | KA

ByWoFv @D45 14:07: ET=1269 Fg=1650.0 Ro=386.0 ! e e o

- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 1 16 17 18 19 20 21 22 23

0.8

0.6

0.4+

0.2~

3 15
Zo|H | BB | B[22 (2| 05 | B [ | B5 [ B [ |8 | B |ZZ|Z=(%x| A [Am| H [Nl B [ H

2808 -

—_—
| _obs
PPFD_obs

@ ® VP
°

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



m=380, FV0=0 m=435, FV0=0 m=540, FV0=0

33.04 4 ME .44 g ME 35.01 g M E
32.5 - 34.21
34.5
34.0
32.0
33.8
31.5 34.0
33.6
31.0
33 4 = 33 5 a
T T T T T T T T T T T T T
400 600 800 1000 380 385 390 435 440 445 540 545 550
m=620,m FV0=0 m=680,m FV0=0 m=735,m FV0=0 m=780,m FV0=0
—o— ME 35.54 —@— ME 35 5] —@— ME .01 o MmE
35.0
35.5
35.0 A 35.0
34.5
i 35.0
34.5 345 -
34.0
34.0 34.5
34.0
T T T T T T T T T T T T
620 625 630 680 685 690 735 740 745
m=830,m FV0=0 m=880,m FV0=0 m=930,m FV0=0
—o— ME 36.5 17 _o— M_E —o— ME
36.0 36.5
36.0
35.5 - 36.0
35.5
35.0 35.5 -
35.0
34.5 35.0
830 835 840 880 885 890 930 935 940 400 600 800 1000
m=380,m FV0=0 m=435,m FV0=0 m=540,m FV0=0 m=620,m FV0=0
445 46. 5
: —— MW 4604 —@— MW —— MW —— MW
: 46. 5 -
46. 0
44. 0
A 46. 0
45.5 - 5.5
43.5 - 45. 5 -
45. 0
45. 0 1
43. 0 45. 0 A 44.5 4
44.5 -
42.5 - 44. 0 1
44.5 - 44.0
380 385 390 435 440 445 540 545 550 620 625 630



46.

46.

45.

45.

44,

44,

46.

45.

45.

44.

44.

43.

43.

m=680, FV0=0

—0— MW

T
680

6é5 660
m=880,n FV0=0

1 —&— MW

T
880

T
885 890

m=735, FV0=0
—— MW
46 -
45 -
44
T T T
735 740 745
m=930,m FV0=0
45.5 4+ —@— MW
45.0 -
44.5 -
44.0 -
43.5 -
T T T
930 935 940

m=780, FV0=0

46.0

45.5 -

45.0 -

44.5

44.0

43.5

—0—

M_W

780

785 790

m=830, FV0=0
—o— MW

46
45 -
44
43

T T T

830 835 840
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P3-13

BriE) | EBIETK FD) | EE (EH/HK) | XK ERE

07:10 294 150.0 |Z=| 1Ri&e07:10 Bzh (GREB{EEEE)
08:00 294 150.0 |Z=| 1Ri&@08:00 Bzl (kFA{EEE)
09:05 294 150.0 FA| 1RRi%@09:05 Bz (kA{EREE)
09:55 294 150.0 FH| 1Bi&@09:55 Bah (RAMEREE)
10:55 294 150.0 FB| {Ri%e10:55 B#E1 (RAHFERSE)
11:45 294 150.0 FE| 1BRi%e11:45 Bz (kAFERSE)
12:45 294 150.0 FA| {Rige12:45 Bz (RAERSE)
13:35 294 150.0 FA| 1BRi8@13:35 Bzh (kRAEEE)
14:30 294 150.0 FA| 1BRi%@14:30 Bz (kAFERSE)
15:40 294 150.0 FA| 1Ri%@15:40 B (RAERE
16:55 294 150.0 FA| 1BRi18@16:55 Bzh (RAEEE)
23t 3234.0 (11)%) 1650. 0 32 HEKEC: 2080.0, PH: 5.6

MEREHERE STMAAEARS (191.0 : 135.0), AIREHTF—@E XAH4
LOREBIRTC (294) 57140 (326. 0) AFF, FIEEH T X BRERS EXIER
ZRIASEPRIERE135.0 ml.

large discrepency for begining water status (225:3.0), set to 225 ml.
REFREBIEC (2610.0) H5iZEEC (2000.0) REIK K, BHHE

B 5KECE (2610.0 vs 4075.0) RS



P3-13_0, Day=42 (2025-05-12)

T e g g g S S B B g
VI, VB®RV, ET - VI, VO, FVI, FVO, FRV, adjFRV, ET

100 A

50

FRV (ml plant-1)

1300

194

234

"FVO' ] missing

Warning: lcol ['FVI’,

1910+ 2000

1400 350 | 1500
187

- 1000

L 500

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

ET (ml/hr/plant)

I —

4 L 4 \ 4 o—
o

Bytnit @D45 14:07: ET=993 Fg=1200.0 Ro=150.0

- 2000
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ByEt @42 19:07: ET=1494 Fg=1350.0 Ro=nan
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ByWoFv @D45 14:07: ET=1187 Fg=1650. 0 Ro=420.0
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0.0
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500 -

—_— 4
o | _obs
—@— PPFD obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



m=435, FV0=0 m=495, FV0=0 m=5395, FV0=0

o IE 3801 o wE 3861 o W
31.01 33.4 -
32.5 - i
30. 5 . 33. 2
33.0 -
30.0 - i
32.0 32.8 1
30 - 29.5 ~ 326
31.5 1 4 4
T T T T 29 0 T T T T T T ’ T T T
400 600 800 1000 435 440 445 495 500 505 555 560 565
m=650,m FV0=0 m=730,m FV0=0 m=770,m FV0=0 m=825,m FV0=0
33.5 —®— ME —&— ME 34.04 —®— ME 34.54 —@®— ME
33.0 -
33.0 1 33.5 - 340 -
32.5 -
32.5 1 33.0 1 33.5 4
32.0 -
32.0 1 32.5 1 230
31.5 -
T T T T T T T T T T T T
650 655 660 730 735 740 770 775 780 825 830 835
m=875,m FV0=0 m=925,m FV0=0 m=980,m FV0=0 m
3504 —@— ME 35.251 —@— ME 35.50 1 47 1
35.00 35. 25 - 46 1
34.5 - 34 75 35, 00 45 -
44 -
w0l 34.50 24,75
' 43 -
34.25 -
34. 50 - 47 -
33.5 - 34.00
34. 25 - —o— ME 41 —— MW
T T T 33 75 - T T T T T T T T T T
875 880 885 925 930 935 980 985 990 400 600 800 1000
m=435,m FV0=0 m=495,m FV0=0 m=555,m FV0=0 m=650,m FV0=0
wml —o— wu 46.01 —o— MW 46.54 —@— MW 457 o muw
i 46.0
45.5 46.0 -
43 - 45.0 45.5 1
45.5 -
44.5 - 45. 0 +
42 44.0 1 07 44.5 1
43.5 A 44. 5 44.0 4
41 -
T T T 43.01 T T T 44.0 - T T T 43.5 T T T
435 440 445 495 500 505 555 560 565 650 655 660



45.

44,

44,

43.

43.

42.

42.

m=730, FV0=0

—0—

M_W

T
730

T T
735 740

m=925,m FV0=0

46

45 -

44 -

43 A

—— MW

T
925

T
930 935

m=770, FV0=0

45 A

44

43 -

—0—

M_w

770

T T
775 780

m=980,m FV0=0

47.0 -

46.5

46.0

45.5 -

45.0 -

44.5 A

——

M_W

980

985 990

45.

45.

44,

44.

43.

43.

42.

m=825, FV0=0

—0—

M_W
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T T
830 835

m=875, FV0=0
—— MW
45 -
44 -
43 -
875 880 885
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P3-13

BriE) | EBIETK FD) | EE (EH/HK) | XK ERE

07:20 288 150.0 A5 {Ri%@07:20 Bz (REERER)
08:05 288 150.0 RS {Ri&e08:05 Bz (KAL)
08:50 288 150.0 BS| 1Ri%e08:50 Bz (RF{EEEE)
09:35 288 150.0 RS {Ri%@09:35 Bz (RFEERR)
10:20 288 150.0 BE| Ri8e10:20 Bal (REAEHSE)
11:05 288 150.0 RS {Ri&ke11:05 Bz (REERS)
12:00 288 150.0 | Ri%e12:00 Bz (RF{EREE)
12:55 288 150.0 el Rige12:55 Bal (REAEHSE)
13:50 288 150.0 BE| Rige13:50 BHa (REAEHE)
15:05 288 150.0 RS Ri%e15:05 Bzl (REERESR)
16:15 288 150.0 BE| Rige16:15 Bal (REAERESE)
23t+]3168.0 (11)%) 1650. 0 32 FEKEC: 2080.0, PH: 5.7

MEREHERE STAAEARS (187.0 : 132.0), AIREHTF—@E XAH4
LOREBRRTC (288) 5714 (326. 0) AFF, FIEEH T X BREERS X XIER
ZRIASERRIERE132.0 ml.

large discrepency for begining water status (223:21.0), set to 223 ml.
REREBIEC (2650.0) H5iZEEC (2000.0) REI K, BHHE

#[E]5KECZ (2650. 0 vs 3888.0) RS



P3-13_0, Day=41 (2025-05-11)

1 e g g e B S g
VI,VRKERV,ET - VI, V0, FVI, EVO, FRV, adjFRV, ET

100 A

50

200 -

150 A

100 A

FRV (ml plant-1)

50 A

1200

059

Warning: lcol [FVI',| "FVO’'] missing

- 2000

- 1500

- 1000

- 500

1.0

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.7

Warning: lcol ['PHB’,| 'PHC’'] missing

200 -

100 A

ET (ml/hr/plant)

300
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Bylnit @45 14:08: ET=1534 Fg=2100.0 Ro=526.0
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ByWoFv @D45 14:08: ET=1237 Fg=1650.0 Ro=382.0
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RHo obs

hour
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—e— ME
34 - =
33 -
32 -
31 -
30 -
29 -
T T T T T T
500 600 700 800 900 1000
m=610,m FV0=0
33.00 - & ME
32,75 -
32. 50 -
32. 25 -
32.00 -
31,75 -
T T T
610 615 620
m=820,m FV0=0
34.04 O ME
33.5 -
33.0 -
32.5 -
820 825 830
m=460,m FV0=0
—— MW
43 -
42 -
41 -

460 465 470

m=460, FV0=0

30.5 —®— ME
30.0 A
29.5 -
29.0 -
28.5 A
T T T
460 465 470
m=665,m FV0=0
—o— ME
33.0 A
32.5 A
32.0 A
T T T
665 670 675
m=885,m FV0=0
—o— ME
34. 0 -
33.5 A
33.0 A
32.5 -
885 890 895
m=510,m FV0=0
44.5 A —— MW
44.0 A
43.5 -
43.0 -
42.5 -

510 515 520

32.

31.

31.

31.

31.

30.

33.

33.

32.

32.

34.

34.

33.

33.

m=510, FVO0=0
00 —&— ME
75 4
50
25 A
00 -
75 4
5%0 5%5 5é0
m=720,m FV0=0
54 —@— ME .h.\././.\./.
0 -
5 -
0 -
®
720 725 730
m=940,m FV0=0
1 —o— ME
0 -
5 -
0 4
9&0 9&5 950
m=560,m FV0=0
-0 MW
46
45
44 -
43 -
560 565 570

32.

32.

32.

32.

32.

31.

31.

33.

33.

32.

m=560, FV0=0

—o—

M_E

T
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5é5 5;0
m=770,n FV0=0

—o—

M_E

T
770

T
775 780

46 -

44 -

42 -

40 -

—— MW
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600 700 800 900 1000

m=610,m FV0=0

47 A

46 -

45 -

44 -

- MW
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615 620



m=665, FV0=0

46 -

45 -

44 -

—o—

M_W

T
665

6%0 6;5
m=885,n FV0=0

46.0

45.5 -

45.0

44.5

44.0

43.5

—o—

M_W

T
885

T
890 895

46.

45.

45.
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44,

43.

43.
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44,

44,

43.

m=720, FV0=0

—— MW

R

720

7é5 750
m=940,n FV0=0

—o— MW

940

T
945 950

m=770, FV0=0
46 —o— MW
45
44
43
770 775 780

m=820, FV0=0

46. 0

45.5 -

45.0 A

44.5 -

44.0 -

43.5 A

——

MW

820

T
825

830




